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TVC (Mean) vs TP delay (c,b,ch)=(3,10,9)
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TVC (Mean) vs TP delay (c,b,ch)=(3,10,10)

TP delay [ns]
0 20 40 60 80 100

500

1000

1500

2000

2500

3000

3500

4000

TVC (Mean) vs TP delay (c,b,ch)=(3,10,11) / ndf 2χ  1.936e+04 / 25

p0        0.0±  4270 

p1        0.00± -35.88 

C = 27.87 [ps/ch]
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TVC (Mean) vs TP delay (c,b,ch)=(3,10,12)

TP delay [ns]
0 20 40 60 80 100

500

1000

1500

2000

2500

3000

3500

4000

TVC (Mean) vs TP delay (c,b,ch)=(3,10,13) / ndf 2χ   9974 / 25

p0        0.0±  4229 

p1        0.00± -34.22 

C = 29.22 [ps/ch]
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TVC (Mean) vs TP delay (c,b,ch)=(3,11,15)
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TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,2,3) / ndf 
2χ  34.56 / 25

p0        0.0±  3907 

p1        0.000185± 0.001736 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,3)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,2,4) / ndf 
2χ  37.86 / 25

p0        0.0±  3914 

p1        0.000190± 0.001607 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,4)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,2,5) / ndf 
2χ  36.92 / 25

p0        0.0±  3910 

p1        0.000175± 0.001842 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,5)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,2,6) / ndf 
2χ  43.98 / 25

p0        0.0±  3909 

p1        0.000162± 0.001294 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,6)

TP delay [ns]
0 20 40 60 80 100

3912

TVC (Mean) vs TP delay (c,b,ch)=(4,2,7) / ndf 
2χ  25.82 / 25

p0        0.0±  3912 

p1        0.000178± 0.002139 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,7)

TP delay [ns]
0 20 40 60 80 100

3904

TVC (Mean) vs TP delay (c,b,ch)=(4,2,8) / ndf 
2χ  59.41 / 25

p0        0.0±  3904 

p1        0.000202± 0.001272 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,8)

TP delay [ns]
0 20 40 60 80 100

3911

TVC (Mean) vs TP delay (c,b,ch)=(4,2,9) / ndf 
2χ  37.13 / 25

p0        0.0±  3911 

p1        0.000173± 0.001093 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,9)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,2,10) / ndf 
2χ  20.75 / 25

p0        0.0±  3910 

p1        0.000183± 0.001121 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,10)

TP delay [ns]
0 20 40 60 80 100

3915

TVC (Mean) vs TP delay (c,b,ch)=(4,2,11) / ndf 
2χ  28.58 / 25

p0        0.0±  3915 

p1        0.000169± 0.001312 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,11)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,2,12) / ndf 
2χ  40.94 / 25

p0        0.0±  3894 

p1        0.000173± 0.001135 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,12)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,2,13) / ndf 
2χ  44.64 / 25

p0        0.0±  3894 

p1        0.000172± 0.001245 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,13)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,2,14) / ndf 
2χ  31.02 / 25

p0        0.0±  3899 

p1        0.000175± 0.001579 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,14)

TP delay [ns]
0 20 40 60 80 100

3897

TVC (Mean) vs TP delay (c,b,ch)=(4,2,15) / ndf 
2χ  23.15 / 25

p0        0.0±  3897 

p1        0.000179± 0.001233 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,15)



TP delay [ns]
0 20 40 60 80 100

3920

TVC (Mean) vs TP delay (c,b,ch)=(4,3,0) / ndf 
2χ  33.65 / 25

p0        0.0±  3920 

p1        0.000195± 0.000908 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,0)

TP delay [ns]
0 20 40 60 80 100

3912

TVC (Mean) vs TP delay (c,b,ch)=(4,3,1) / ndf 
2χ  38.68 / 25

p0        0.0±  3912 

p1        0.000180± 0.001219 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,1)

TP delay [ns]
0 20 40 60 80 100

3914

TVC (Mean) vs TP delay (c,b,ch)=(4,3,2) / ndf 
2χ  30.19 / 25

p0        0.0±  3914 

p1        0.000177± 0.001337 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,2)

TP delay [ns]
0 20 40 60 80 100

3915

TVC (Mean) vs TP delay (c,b,ch)=(4,3,3)
 / ndf 2χ  41.61 / 25

p0        0.0±  3915 

p1        0.0001917± 0.0006689 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,3)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,4) / ndf 
2χ  23.31 / 25

p0        0.0±  3910 

p1        0.000210± 0.000667 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,4)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,5)
 / ndf 2χ  24.11 / 25

p0        0.0±  3904 

p1        0.0001880± 0.0006078 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,5)

TP delay [ns]
0 20 40 60 80 100

3924

3925

3926

3927

3928

3929

3930

TVC (Mean) vs TP delay (c,b,ch)=(4,3,6)
 / ndf 2χ  43.19 / 25

p0        0.0±  3930 

p1        0.0001765± 0.0003822 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,6)

TP delay [ns]
0 20 40 60 80 100

3919

TVC (Mean) vs TP delay (c,b,ch)=(4,3,7)
 / ndf 2χ  40.47 / 25

p0        0.0±  3919 

p1        0.0001760± 0.0006834 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,7)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,8)
 / ndf 2χ  16.59 / 25

p0        0.0±  3923 

p1        0.0001851± 0.0006429 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,8)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,9)
 / ndf 2χ  26.91 / 25

p0        0.0±  3916 

p1        0.0001958± 0.0006698 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,9)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,10)
 / ndf 2χ  32.27 / 25

p0        0.0±  3914 

p1        0.0001773± 0.0007483 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,10)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,11)
 / ndf 2χ  55.52 / 25

p0        0.0±  3925 

p1        0.0001792± 0.0008886 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,11)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,12) / ndf 
2χ  27.55 / 25

p0        0.0±  3933 

p1        0.000194± 0.001032 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,12)

TP delay [ns]
0 20 40 60 80 100

3927

TVC (Mean) vs TP delay (c,b,ch)=(4,3,13) / ndf 
2χ  23.38 / 25

p0        0.0±  3927 

p1        0.000178± 0.001055 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,13)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,14) / ndf 
2χ  38.65 / 25

p0        0.0±  3928 

p1        0.000196± 0.001113 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,14)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,15) / ndf 
2χ  27.94 / 25

p0        0.0±  3931 

p1        0.000193± 0.001023 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,15)



TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,0)
 / ndf 2χ  27.58 / 25

p0        0.0±  3917 

p1        1.925e-04± 8.916e-05 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,0)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,1)
 / ndf 2χ  24.61 / 25

p0        0.0±  3915 

p1        0.0001950± 0.0002844 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,1)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,2)
 / ndf 2χ  34.42 / 25

p0        0.0±  3929 

p1        0.0001913± 0.0003041 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,2)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,3)
 / ndf 2χ  36.07 / 25

p0        0.0±  3923 

p1        0.0001783± 0.0005842 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,3)

TP delay [ns]
0 20 40 60 80 100

3925
TVC (Mean) vs TP delay (c,b,ch)=(4,4,4) / ndf 

2χ  26.23 / 25

p0        0.0±  3925 

p1        0.00019± 0.00117 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,4)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,5) / ndf 
2χ  33.01 / 25

p0        0.0±  3930 

p1        0.000192± 0.001498 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,5)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,6) / ndf 
2χ  29.42 / 25

p0        0.0±  3927 

p1        0.000207± 0.001491 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,6)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,7) / ndf 
2χ  28.17 / 25

p0        0.0±  3918 

p1        0.000196± 0.001132 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,7)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,8) / ndf 
2χ  48.99 / 25

p0        0.0±  3942 

p1        0.000200± 0.001192 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,8)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,9) / ndf 
2χ  26.88 / 25

p0        0.0±  3941 

p1        0.000197± 0.001082 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,9)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,10) / ndf 
2χ  32.11 / 25

p0        0.0±  3941 

p1        0.000220± 0.001222 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,10)

TP delay [ns]
0 20 40 60 80 100

3935

TVC (Mean) vs TP delay (c,b,ch)=(4,4,11) / ndf 
2χ  45.97 / 25

p0        0.0±  3935 

p1        0.000185± 0.001099 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,11)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,12)
 / ndf 2χ  35.46 / 25

p0        0.0±  3928 

p1        0.0002104± 0.0009845 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,12)

TP delay [ns]
0 20 40 60 80 100

3938

TVC (Mean) vs TP delay (c,b,ch)=(4,4,13) / ndf 
2χ  31.98 / 25

p0        0.0±  3938 

p1        0.000167± 0.000712 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,13)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,14)
 / ndf 2χ  43.46 / 25

p0        0.0±  3935 

p1        0.0001785± 0.0007139 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,14)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,15)
 / ndf 2χ  50.66 / 25

p0        0.0±  3927 

p1        0.0001743± 0.0007415 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,15)



TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,0) / ndf 
2χ  45.68 / 25

p0        0.0±  3915 

p1        0.000176± 0.001357 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,0)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,1) / ndf 
2χ  53.73 / 25

p0        0.0±  3912 

p1        0.00018± 0.00125 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,1)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,2) / ndf 
2χ  44.11 / 25

p0        0.0±  3918 

p1        0.00018± 0.00115 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,2)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,3) / ndf 
2χ  55.99 / 25

p0        0.0±  3923 

p1        0.000179± 0.001038 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,3)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,4) / ndf 
2χ  32.07 / 25

p0        0.0±  3911 

p1        0.00020± 0.00146 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,4)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,5) / ndf 
2χ  41.67 / 25

p0        0.0±  3906 

p1        0.000175± 0.001089 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,5)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,6)
 / ndf 2χ  29.17 / 25

p0        0.0±  3917 

p1        0.0001874± 0.0005971 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,6)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,7)
 / ndf 2χ   53.3 / 25

p0        0.0±  3908 

p1        0.0001863± 0.0007914 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,7)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,8) / ndf 
2χ  32.29 / 25

p0        0.0±  3938 

p1        0.000187± 0.001045 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,8)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,9)
 / ndf 2χ  37.94 / 25

p0        0.0±  3935 

p1        0.0001738± 0.0008822 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,9)

TP delay [ns]
0 20 40 60 80 100

3937

TVC (Mean) vs TP delay (c,b,ch)=(4,5,10)
 / ndf 2χ  33.97 / 25

p0        0.0±  3937 

p1        0.0001831± 0.0008312 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,10)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,11)
 / ndf 2χ  36.36 / 25

p0        0.0±  3933 

p1        0.0001791± 0.0008098 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,11)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,12)
 / ndf 2χ  32.64 / 25

p0        0.0±  3935 

p1        0.0001883± 0.0009689 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,12)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,13) / ndf 
2χ  37.41 / 25

p0        0.0±  3934 

p1        0.000191± 0.001207 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,13)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,14)
 / ndf 2χ  40.62 / 25

p0        0.0±  3939 

p1        0.0001787± 0.0005831 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,14)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,15) / ndf 
2χ  20.04 / 25

p0        0.0±  3938 

p1        0.000204± 0.001144 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,15)



TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,0) / ndf 
2χ  40.32 / 25

p0        0.0±  3920 

p1        0.000203± 0.001575 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,0)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,1) / ndf 
2χ  42.57 / 25

p0        0.0±  3924 

p1        0.000185± 0.001388 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,1)

TP delay [ns]
0 20 40 60 80 100

3929

3930

3931

TVC (Mean) vs TP delay (c,b,ch)=(4,6,2) / ndf 
2χ  37.31 / 25

p0        0.0±  3931 

p1        0.000185± 0.001171 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,2)

TP delay [ns]
0 20 40 60 80 100

3926

TVC (Mean) vs TP delay (c,b,ch)=(4,6,3) / ndf 
2χ  48.93 / 25

p0        0.0±  3926 

p1        0.000193± 0.001749 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,3)

TP delay [ns]
0 20 40 60 80 100

3915

TVC (Mean) vs TP delay (c,b,ch)=(4,6,4) / ndf 
2χ  33.43 / 25

p0        0.0±  3915 

p1        0.000195± 0.000368 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,4)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,5)
 / ndf 2χ  36.78 / 25

p0        0.0±  3913 

p1        0.0001854± 0.0007231 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,5)

TP delay [ns]
0 20 40 60 80 100

3913

TVC (Mean) vs TP delay (c,b,ch)=(4,6,6)
 / ndf 2χ  35.39 / 25

p0        0.0±  3913 

p1        0.0001834± 0.0008727 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,6)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,7)
 / ndf 2χ  35.06 / 25

p0        0.0±  3912 

p1        0.0001886± 0.0008993 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,7)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,8) / ndf 
2χ  24.62 / 25

p0        0.0±  3925 

p1        0.000187± 0.001173 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,8)

TP delay [ns]
0 20 40 60 80 100

3916

TVC (Mean) vs TP delay (c,b,ch)=(4,6,9) / ndf 
2χ  28.24 / 25

p0        0.0±  3916 

p1        0.000184± 0.001103 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,9)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,10) / ndf 
2χ   40.8 / 25

p0        0.0±  3915 

p1        0.000179± 0.001256 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,10)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,11) / ndf 
2χ  24.51 / 25

p0        0.0±  3922 

p1        0.000198± 0.001137 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,11)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,12) / ndf 
2χ  59.12 / 25

p0        0.0±  3929 

p1        0.000172± 0.001026 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,12)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,13)
 / ndf 2χ  23.57 / 25

p0        0.0±  3928 

p1        0.0002091± 0.0008724 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,13)

TP delay [ns]
0 20 40 60 80 100

3917

TVC (Mean) vs TP delay (c,b,ch)=(4,6,14) / ndf 
2χ  45.08 / 25

p0        0.0±  3917 

p1        0.000176± 0.001086 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,14)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,15) / ndf 
2χ  33.53 / 25

p0        0.0±  3925 

p1        0.000185± 0.001218 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,15)



TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,0) / ndf 
2χ  26.85 / 25

p0        0.0±  3942 

p1        0.000192± 0.001961 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,0)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,1) / ndf 
2χ   44.9 / 25

p0        0.0±  3943 

p1        0.000197± 0.001707 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,1)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,2) / ndf 
2χ  35.76 / 25

p0        0.0±  3939 

p1        0.000184± 0.002143 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,2)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,3) / ndf 
2χ  27.29 / 25

p0        0.0±  3942 

p1        0.000184± 0.001593 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,3)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,4) / ndf 
2χ  20.78 / 25

p0        0.0±  3928 

p1        0.000195± 0.001338 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,4)

TP delay [ns]
0 20 40 60 80 100

3927

TVC (Mean) vs TP delay (c,b,ch)=(4,7,5) / ndf 
2χ  21.06 / 25

p0        0.0±  3927 

p1        0.000192± 0.001833 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,5)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,6) / ndf 
2χ  49.92 / 25

p0        0.0±  3931 

p1        0.000181± 0.001485 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,6)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,7) / ndf 
2χ  25.24 / 25

p0        0.0±  3941 

p1        0.00021± 0.00155 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,7)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,8) / ndf 
2χ  47.28 / 25

p0        0.0±  3934 

p1        0.000181± 0.001813 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,8)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,9) / ndf 
2χ  39.77 / 25

p0        0.0±  3930 

p1        0.000186± 0.002221 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,9)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,10) / ndf 
2χ  59.39 / 25

p0        0.0±  3925 

p1        0.000195± 0.002137 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,10)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,11) / ndf 
2χ  16.71 / 25

p0        0.0±  3925 

p1        0.000181± 0.001872 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,11)

TP delay [ns]
0 20 40 60 80 100

3952

TVC (Mean) vs TP delay (c,b,ch)=(4,7,12) / ndf 
2χ  34.05 / 25

p0        0.0±  3952 

p1        0.000195± 0.001697 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,12)

TP delay [ns]
0 20 40 60 80 100

3952

3953

3954

TVC (Mean) vs TP delay (c,b,ch)=(4,7,13) / ndf 
2χ  24.53 / 25

p0        0.0±  3954 

p1        0.000191± 0.002037 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,13)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,14) / ndf 
2χ  38.68 / 25

p0        0.0±  3952 

p1        0.000188± 0.001422 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,14)

TP delay [ns]
0 20 40 60 80 100

3957

TVC (Mean) vs TP delay (c,b,ch)=(4,7,15) / ndf 
2χ  35.88 / 25

p0        0.0±  3958 

p1        0.000186± 0.001552 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,15)



TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,0) / ndf 
2χ   48.2 / 25

p0        0.0±  3913 

p1        0.000183± 0.001256 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,0)

TP delay [ns]
0 20 40 60 80 100

3910

3911

3912

TVC (Mean) vs TP delay (c,b,ch)=(4,8,1)
 / ndf 2χ  59.72 / 25

p0        0.0±  3912 

p1        0.0001877± 0.0009097 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,1)

TP delay [ns]
0 20 40 60 80 100

3921

3922

TVC (Mean) vs TP delay (c,b,ch)=(4,8,2) / ndf 
2χ  45.22 / 25

p0        0.0±  3922 

p1        0.000185± 0.001728 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,2)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,3)
 / ndf 2χ   35.1 / 25

p0        0.0±  3917 

p1        0.0001795± 0.0009064 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,3)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,4) / ndf 
2χ  16.57 / 25

p0        0.0±  3915 

p1        0.000187± 0.001372 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,4)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,5) / ndf 
2χ  50.77 / 25

p0        0.0±  3908 

p1        0.000176± 0.001577 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,5)

TP delay [ns]
0 20 40 60 80 100

3910

TVC (Mean) vs TP delay (c,b,ch)=(4,8,6) / ndf 
2χ   38.6 / 25

p0        0.0±  3910 

p1        0.000191± 0.001476 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,6)

TP delay [ns]
0 20 40 60 80 100

3911

TVC (Mean) vs TP delay (c,b,ch)=(4,8,7) / ndf 
2χ  25.49 / 25

p0        0.0±  3911 

p1        0.000187± 0.001146 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,7)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,8)
 / ndf 2χ  31.64 / 25

p0        0.0±  3910 

p1        0.0001776± 0.0008905 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,8)

TP delay [ns]
0 20 40 60 80 100

3907

3908

TVC (Mean) vs TP delay (c,b,ch)=(4,8,9)
 / ndf 2χ  42.37 / 25

p0        0.0±  3908 

p1        0.0001707± 0.0008931 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,9)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,10) / ndf 
2χ  45.48 / 25

p0        0.0±  3911 

p1        0.000172± 0.001014 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,10)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,11) / ndf 
2χ  37.12 / 25

p0        0.0±  3915 

p1        0.000180± 0.001217 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,11)

TP delay [ns]
0 20 40 60 80 100

3897

TVC (Mean) vs TP delay (c,b,ch)=(4,8,12) / ndf 
2χ  44.44 / 25

p0        0.0±  3897 

p1        0.000186± 0.001186 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,12)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,13) / ndf 
2χ  50.19 / 25

p0        0.0±  3901 

p1        0.000183± 0.001332 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,13)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,14)
 / ndf 2χ  34.64 / 25

p0        0.0±  3903 

p1        0.0001787± 0.0007899 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,14)

TP delay [ns]
0 20 40 60 80 100

3903

3904

3905

3906

3907

3908

3909

TVC (Mean) vs TP delay (c,b,ch)=(4,8,15)
 / ndf 2χ  72.97 / 25

p0        0.0±  3909 

p1        0.0001728± 0.0007528 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,15)



TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,0) / ndf 
2χ  26.91 / 25

p0        0.0±  3954 

p1        0.000198± 0.000798 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,0)

TP delay [ns]
0 20 40 60 80 100

3940

3941

3942

3943

3944

3945

3946

TVC (Mean) vs TP delay (c,b,ch)=(4,9,1)
 / ndf 2χ  28.55 / 25

p0        0.0±  3946 

p1        0.0001839± 0.0009216 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,1)

TP delay [ns]
0 20 40 60 80 100

3945

3946

3947

3948

TVC (Mean) vs TP delay (c,b,ch)=(4,9,2) / ndf 
2χ  42.52 / 25

p0        0.0±  3948 

p1        0.000187± 0.001139 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,2)

TP delay [ns]
0 20 40 60 80 100

3954

TVC (Mean) vs TP delay (c,b,ch)=(4,9,3)
 / ndf 2χ  33.14 / 25

p0        0.0±  3955 

p1        0.0001963± 0.0007323 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,3)

TP delay [ns]
0 20 40 60 80 100

3928

TVC (Mean) vs TP delay (c,b,ch)=(4,9,4) / ndf 
2χ  32.54 / 25

p0        0.0±  3928 

p1        0.000193± 0.001122 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,4)

TP delay [ns]
0 20 40 60 80 100

3938

TVC (Mean) vs TP delay (c,b,ch)=(4,9,5)
 / ndf 2χ  37.06 / 25

p0        0.0±  3938 

p1        0.0002028± 0.0009855 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,5)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,6) / ndf 
2χ  80.76 / 25

p0        0.0±  3942 

p1        0.000181± 0.001051 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,6)

TP delay [ns]
0 20 40 60 80 100

3937

3938

3939

3940

TVC (Mean) vs TP delay (c,b,ch)=(4,9,7) / ndf 
2χ  49.48 / 25

p0        0.0±  3940 

p1        0.00021± 0.00119 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,7)

TP delay [ns]
0 20 40 60 80 100

3930

3931

3932

TVC (Mean) vs TP delay (c,b,ch)=(4,9,8)
 / ndf 2χ  47.62 / 25

p0        0.0±  3932 

p1        0.0001946± 0.0009983 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,8)

TP delay [ns]
0 20 40 60 80 100

3930

3931

3932

3933

3934

3935

TVC (Mean) vs TP delay (c,b,ch)=(4,9,9) / ndf 
2χ  74.03 / 25

p0        0.0±  3935 

p1        0.000183± 0.001208 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,9)

TP delay [ns]
0 20 40 60 80 100

3936

TVC (Mean) vs TP delay (c,b,ch)=(4,9,10)
 / ndf 2χ  41.49 / 25

p0        0.0±  3936 

p1        0.0001899± 0.0009307 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,10)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,11) / ndf 
2χ  29.05 / 25

p0        0.0±  3933 

p1        0.000193± 0.001058 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,11)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,12) / ndf 
2χ  32.98 / 25

p0        0.0±  3934 

p1        0.000185± 0.001863 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,12)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,13) / ndf 
2χ  31.16 / 25

p0        0.0±  3933 

p1        0.000182± 0.002076 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,13)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,14) / ndf 
2χ  25.99 / 25

p0        0.0±  3928 

p1        0.000186± 0.001359 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,14)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,15) / ndf 
2χ  28.19 / 25

p0        0.0±  3937 

p1        0.000181± 0.001665 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,15)



TP delay [ns]
0 20 40 60 80 100

3895

3896

3897

3898

3899

3900

TVC (Mean) vs TP delay (c,b,ch)=(4,10,0) / ndf 
2χ  23.09 / 25

p0        0.0±  3900 

p1        0.00020± 0.00177 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,0)

TP delay [ns]
0 20 40 60 80 100

3916

TVC (Mean) vs TP delay (c,b,ch)=(4,10,1) / ndf 
2χ  71.41 / 25

p0        0.0±  3916 

p1        0.000180± 0.001983 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,1)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,2) / ndf 
2χ  32.96 / 25

p0        0.0±  3906 

p1        0.000183± 0.001448 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,2)

TP delay [ns]
0 20 40 60 80 100

3911

TVC (Mean) vs TP delay (c,b,ch)=(4,10,3) / ndf 
2χ  51.98 / 25

p0        0.0±  3911 

p1        0.000174± 0.001888 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,3)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,4) / ndf 
2χ  47.71 / 25

p0        0.0±  3928 

p1        0.000180± 0.001646 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,4)

TP delay [ns]
0 20 40 60 80 100

3923

3924

3925

3926

TVC (Mean) vs TP delay (c,b,ch)=(4,10,5) / ndf 
2χ  14.08 / 25

p0        0.0±  3926 

p1        0.000184± 0.001496 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,5)

TP delay [ns]
0 20 40 60 80 100

3924

3925

3926

3927

3928

3929

3930

3931

TVC (Mean) vs TP delay (c,b,ch)=(4,10,6) / ndf 
2χ   34.6 / 25

p0        0.0±  3931 

p1        0.00017± 0.00159 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,6)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,7) / ndf 
2χ   26.2 / 25

p0        0.0±  3932 

p1        0.000179± 0.001704 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,7)

TP delay [ns]
0 20 40 60 80 100

3916

TVC (Mean) vs TP delay (c,b,ch)=(4,10,8) / ndf 
2χ  25.38 / 25

p0        0.0±  3916 

p1        0.00017± 0.00163 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,8)

TP delay [ns]
0 20 40 60 80 100

3912

3913

3914

3915

3916

3917

TVC (Mean) vs TP delay (c,b,ch)=(4,10,9) / ndf 
2χ  30.75 / 25

p0        0.0±  3917 

p1        0.000182± 0.001701 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,9)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,10) / ndf 
2χ  19.04 / 25

p0        0.0±  3916 

p1        0.00019± 0.00184 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,10)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,11) / ndf 
2χ  30.38 / 25

p0        0.0±  3920 

p1        0.000189± 0.001618 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,11)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,12) / ndf 
2χ  18.49 / 25

p0        0.0±  3925 

p1        0.000208± 0.001571 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,12)

TP delay [ns]
0 20 40 60 80 100

3938
TVC (Mean) vs TP delay (c,b,ch)=(4,10,13) / ndf 

2χ  27.21 / 25

p0        0.0±  3938 

p1        0.000183± 0.001531 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,13)

TP delay [ns]
0 20 40 60 80 100

3931

3932

3933

3934

3935

3936

3937

TVC (Mean) vs TP delay (c,b,ch)=(4,10,14) / ndf 
2χ  29.89 / 25

p0        0.0±  3937 

p1        0.000181± 0.001663 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,14)

TP delay [ns]
0 20 40 60 80 100

3926

TVC (Mean) vs TP delay (c,b,ch)=(4,10,15) / ndf 
2χ   18.8 / 25

p0        0.0±  3926 

p1        0.00018± 0.00192 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,15)



TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,0)
 / ndf 2χ  12.55 / 25

p0        0.0±  3924 

p1        0.0002158± 0.0009956 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,0)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,1)
 / ndf 2χ  31.34 / 25

p0        0.0±  3932 

p1        0.0001878± 0.0009087 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,1)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,2)
 / ndf 2χ  44.26 / 25

p0        0.0±  3930 

p1        0.0001884± 0.0008941 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,2)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,3) / ndf 
2χ  25.61 / 25

p0        0.0±  3926 

p1        0.00019± 0.00102 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,3)

TP delay [ns]
0 20 40 60 80 100

3946

3947

3948

3949

3950

3951

3952

3953
TVC (Mean) vs TP delay (c,b,ch)=(4,11,4) / ndf 

2χ  52.41 / 25

p0        0.0±  3952 

p1        0.000206± 0.001867 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,4)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,5) / ndf 
2χ  33.64 / 25

p0        0.0±  3944 

p1        0.000201± 0.002041 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,5)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,6) / ndf 
2χ  34.22 / 25

p0        0.0±  3951 

p1        0.000191± 0.001676 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,6)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,7) / ndf 
2χ  50.26 / 25

p0        0.0±  3950 

p1        0.000177± 0.001624 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,7)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,8) / ndf 
2χ  31.54 / 25

p0        0.0±  3926 

p1        0.000185± 0.001624 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,8)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,9) / ndf 
2χ   52.7 / 25

p0        0.0±  3932 

p1        0.000187± 0.001496 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,9)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,10) / ndf 
2χ  30.07 / 25

p0        0.0±  3933 

p1        0.000183± 0.001418 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,10)

TP delay [ns]
0 20 40 60 80 100

3924

3925

3926

3927

TVC (Mean) vs TP delay (c,b,ch)=(4,11,11) / ndf 
2χ  34.16 / 25

p0        0.0±  3927 

p1        0.0002± 0.0017 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,11)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,12) / ndf 
2χ  30.95 / 25

p0        0.0±  3933 

p1        0.000182± 0.001735 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,12)

TP delay [ns]
0 20 40 60 80 100

3921

3922

3923

3924

3925

3926

TVC (Mean) vs TP delay (c,b,ch)=(4,11,13) / ndf 
2χ  49.02 / 25

p0        0.0±  3926 

p1        0.000172± 0.001939 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,13)
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TVC (Mean) vs TP delay (c,b,ch)=(4,11,14) / ndf 
2χ  36.54 / 25
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p1        0.000182± 0.001637 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,14)
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TVC (Mean) vs TP delay (c,b,ch)=(4,11,15) / ndf 
2χ  36.83 / 25

p0        0.0±  3931 

p1        0.000171± 0.001629 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,15)
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,0) / ndf 
2χ  47.43 / 25
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p1        0.000182± 0.001223 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,0)
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,1) / ndf 
2χ  37.98 / 25
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,1)
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,2) / ndf 
2χ  47.84 / 25
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p1        0.000186± 0.001595 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,2)
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,3) / ndf 
2χ  21.97 / 25
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p1        0.00018± 0.00105 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,3)
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,4) / ndf 
2χ  30.53 / 25
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p1        0.000198± 0.000895 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,4)
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,5) / ndf 
2χ  41.04 / 25
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p1        0.000207± 0.001144 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,5)
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,6)
 / ndf 2χ   51.6 / 25
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p1        0.0001794± 0.0006788 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,6)

TP delay [ns]
0 20 40 60 80 100

3921

TVC (Mean) vs TP delay (c,b,ch)=(4,12,7)
 / ndf 2χ   49.5 / 25
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p1        0.0001830± 0.0008132 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,7)
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,8)
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,8)
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,9) / ndf 
2χ  22.45 / 25
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,9)
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,10)
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,10)
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,11)
 / ndf 2χ   50.1 / 25
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p1        0.0001896± 0.0006053 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,11)
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,12) / ndf 
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,12)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,12,13) / ndf 
2χ  31.86 / 25
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,13)
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,14) / ndf 
2χ  29.91 / 25
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,14)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,12,15) / ndf 
2χ  24.19 / 25
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p1        0.000190± 0.001159 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,15)
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,0) / ndf 
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,0)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,13,1) / ndf 
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,1)
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,2) / ndf 
2χ  35.49 / 25
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p1        0.000188± 0.002258 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,2)
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,3) / ndf 
2χ  40.88 / 25

p0        0.0±  4030 
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,3)
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,4) / ndf 
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,4)
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,5) / ndf 
2χ  20.68 / 25
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,5)
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,6) / ndf 
2χ   33.6 / 25
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,6)
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,7) / ndf 
2χ  69.68 / 25
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,7)
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,8) / ndf 

2χ  31.62 / 25
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p1        0.000203± 0.001329 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,8)
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,9) / ndf 
2χ  47.66 / 25
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p1        0.000183± 0.001401 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,9)
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,10) / ndf 
2χ  23.99 / 25

p0        0.0±  4019 

p1        0.000178± 0.001374 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,10)
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,11) / ndf 
2χ  40.66 / 25

p0        0.0±  4011 

p1        0.000178± 0.001779 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,11)
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,12) / ndf 
2χ  20.14 / 25
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,12)
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,13) / ndf 
2χ  34.64 / 25
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p1        0.000182± 0.001404 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,13)
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,14) / ndf 
2χ  33.44 / 25

p0        0.0±  3959 

p1        0.000172± 0.001471 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,14)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,15) / ndf 
2χ  25.31 / 25

p0        0.0±  3958 

p1        0.000208± 0.001446 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,15)
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,0) / ndf 
2χ  31.12 / 25
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,0)
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,1) / ndf 
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,1)
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,2) / ndf 
2χ  33.26 / 25
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p1        0.000179± 0.001573 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,2)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,3) / ndf 
2χ  49.19 / 25
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p1        0.000183± 0.001736 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,3)
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,4) / ndf 
2χ  93.95 / 25
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,4)
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,5)
 / ndf 2χ  56.87 / 25
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p1        0.0001793± 0.0005952 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,5)
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,6) / ndf 
2χ     74 / 25

p0        0.0±  3964 

p1        0.000177± 0.001066 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,6)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,7)
 / ndf 2χ  98.21 / 25

p0        0.0±  3976 

p1        0.0001917± 0.0008146 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,7)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,8) / ndf 
2χ  42.76 / 25

p0        0.0±  3919 

p1        0.000180± 0.001298 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,8)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,9) / ndf 
2χ  41.84 / 25

p0        0.0±  3929 

p1        0.000179± 0.001129 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,9)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,10) / ndf 
2χ  35.94 / 25

p0        0.0±  3923 

p1        0.000179± 0.001308 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,10)
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,11) / ndf 
2χ  37.05 / 25
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p1        0.000185± 0.001425 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,11)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,12) / ndf 
2χ  18.71 / 25

p0        0.0±  3965 

p1        0.000189± 0.001133 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,12)
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,13) / ndf 
2χ  23.93 / 25

p0        0.0±  3965 

p1        0.000185± 0.001378 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,13)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,14) / ndf 
2χ  22.84 / 25

p0        0.0±  3956 

p1        0.00019± 0.00156 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,14)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,14,15) / ndf 
2χ  34.22 / 25

p0        0.0±  3955 

p1        0.000186± 0.001161 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,15)



TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,0) / ndf 

2χ  35.78 / 25
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p1        0.000185± 0.001059 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,0)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,1) / ndf 
2χ  40.97 / 25
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p1        0.000178± 0.001071 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,1)
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0 20 40 60 80 100

3934

3935

TVC (Mean) vs TP delay (c,b,ch)=(4,15,2) / ndf 
2χ  34.76 / 25

p0        0.0±  3935 

p1        0.000176± 0.001082 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,2)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,3) / ndf 
2χ  29.21 / 25

p0        0.0±  3937 

p1        0.000179± 0.001189 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,3)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,4)
 / ndf 2χ  35.69 / 25

p0        0.0±  3928 

p1        0.0001885± 0.0006259 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,4)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,5)
 / ndf 2χ  18.46 / 25

p0        0.0±  3927 

p1        0.0001900± 0.0007769 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,5)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,6) / ndf 
2χ  20.33 / 25

p0        0.0±  3928 

p1        0.000183± 0.000923 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,6)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,7) / ndf 
2χ  52.68 / 25

p0        0.0±  3924 

p1        0.000184± 0.001134 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,7)
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,8) / ndf 
2χ  32.53 / 25

p0        0.0±  3926 

p1        0.000200± 0.001174 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,8)
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,9)
 / ndf 2χ  44.01 / 25
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p1        0.0001810± 0.0007252 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,9)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,10)
 / ndf 2χ  40.44 / 25
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p1        0.0001836± 0.0008124 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,10)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,11) / ndf 
2χ  21.81 / 25

p0        0.0±  3927 

p1        0.000179± 0.001006 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,11)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,12)
 / ndf 2χ   20.8 / 25

p0        0.0±  3931 

p1        0.0001812± 0.0008356 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,12)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,13) / ndf 
2χ  26.54 / 25

p0        0.0±  3926 

p1        0.000171± 0.001071 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,13)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,14) / ndf 
2χ  35.93 / 25

p0        0.0±  3922 

p1        0.000183± 0.000869 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,14)

TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,15) / ndf 
2χ  25.55 / 25

p0        0.0±  3926 

p1        0.000178± 0.001083 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,15)
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TVC (Mean) vs TP delay (c,b,ch)=(5,0,0) / ndf 2χ  1.135e+04 / 25
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C = 28.56 [ps/ch]

TVC (Mean) vs TP delay (c,b,ch)=(5,0,0)
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TVC (Mean) vs TP delay (c,b,ch)=(5,0,1) / ndf 2χ  1.093e+04 / 25
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p1        0.00± -35.17 

C = 28.43 [ps/ch]

TVC (Mean) vs TP delay (c,b,ch)=(5,0,1)
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TVC (Mean) vs TP delay (c,b,ch)=(5,0,2) / ndf 2χ  1.087e+04 / 25

p0        0.0±  4179 

p1        0.00± -35.29 

C = 28.34 [ps/ch]

TVC (Mean) vs TP delay (c,b,ch)=(5,0,2)
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TVC (Mean) vs TP delay (c,b,ch)=(5,0,3) / ndf 2χ  1.058e+04 / 25

p0        0.0±  4193 

p1        0.00± -34.62 

C = 28.88 [ps/ch]

TVC (Mean) vs TP delay (c,b,ch)=(5,0,3)
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TVC (Mean) vs TP delay (c,b,ch)=(5,0,4) / ndf 2χ  1.295e+04 / 25

p0        0.0±  4194 

p1        0.00± -35.88 

C = 27.87 [ps/ch]

TVC (Mean) vs TP delay (c,b,ch)=(5,0,4)
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TVC (Mean) vs TP delay (c,b,ch)=(5,0,5) / ndf 2χ  1.147e+04 / 25

p0        0.0±  4199 

p1        0.00± -35.52 

C = 28.16 [ps/ch]

TVC (Mean) vs TP delay (c,b,ch)=(5,0,5)
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TVC (Mean) vs TP delay (c,b,ch)=(5,0,6) / ndf 2χ  1.211e+04 / 25

p0        0.0±  4199 

p1        0.00± -35.69 

C = 28.02 [ps/ch]

TVC (Mean) vs TP delay (c,b,ch)=(5,0,6)
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TVC (Mean) vs TP delay (c,b,ch)=(5,0,7) / ndf 2χ  1.453e+04 / 25
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